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Ⅰ ア 
�

��
  イ 50  ウ 37  エ 55  オ 30 

 

Ⅱ 

（1） 

①式 1 周 80+20×3.14=142.8m 

   142.8÷1.5=95.2 

答  95.2 回転 

②式 A は 1 周に 95.2 秒 

   B は 1 周に 142.8÷1.2=119 秒 

   1 周あたり 119-95.2=23.8 秒差がつく 

   40÷23.8=
���

���
 

答  1
��

���
  周 

（2） 

（a） 

①式 3×3×3.14×10=282.6 

答  282.6  cm3 

②式 底面+上面：3×3×3.14×2 

   側面：6×3.14×10 

   78×3.14=244.92 

答  244.92  cm2 

③式 3×3×3.14×
�

�
×6=36×3.14=113.04   

答  113.04  cm2 

（b） 

①式 1+2+…+19=190   

答  19  段  10  個 

②式 3×3×3.14 

   44×3×3×3.14=1243.44 

答  1243.44  cm2 
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（2）式 （N-AMB）-(L-AMB)△AMB=12 

    =12×
��

�
×

�

�
-12×3×

�

�
=
��

�
 

答  
��

�
（=9

�

�
）  cm3 
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（3） 

①式 6×
��

�
×

�

�
=20 

   

答  20  cm2 

②式 △ALB=15cm2 

   △ALN=
�


�
cm2 

   20+15+
�


�
×2=

���

�
  

答  
���

�
（=46

�

�
）  cm2 

 

 

 

Ⅳ 

（1） 式 分母：40 か 100 

  分母 40→分子：10,25→
�


��
 

  分母 100→分子 10,25,40,55,70,85→
��


���
 

答  3
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）   
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① 

 

 

 

 

 

 

 ②式 10g→100,96,92,88,84 total460 

    20g→100,97,94,91,88,85,79 total634 

    60g→100 total100 

答  1194 


